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SIIG 9T &7 STIG B MaLId YT T JUA BHIfOTY | IETERVT §RT FHER |
What is resonance? Give the conditions necessary for resonance. Illustrate
your answer with example.
ereRa arer &1 Ffaw wragaar &1 gvi SR |
Explain the stereochemistry of tartaric acid.

OR
Hoifae Tire vd RS TS &1 9aTexvT od gd A qeagadr
B T |

Describe geometrical isomerism taking the example of maleic acid and
fumaric acid.
TR B q9 Rigia 1 87 s Al b1 o P |
What is Baeyer Strain theory? What are its limitations?

OR
pred ey Afafhar &1 fhaffy afka wwsnsd |
Explain Friedel Crafts reaction with mechanism.
1,3 - Ferelsd @ aNfvass Jfifdee e &1 wa=mgd |
Discuss the molecular orbital structure of 1, 3 - butadiene.

OR
BESIANTE o JifeiRagRITRYT - JrRagiieRer i &
|9 |
Explain Hydroboration and Oxymercuration- Demercuration reactions.
Sn! e SN ifafshanelt &1 wHIRIT R Tl PRSI BT g I |
Describe the factors affecting SN' and SN* mechanism.

OR
TR BelTge @ MG oo & Jware fhafafdy &1 wwemgd |
Explain benzyne mechanism of nucleophilic substitution reaction of aryl
halides.
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Qug ‘g H gy 9 @ @vs A o sad uem ) wvs
I Pl AN TE BA BN |

Section'A’, containing 8 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section'C' consists of
long-answer-type questions. Section 'A" has to be solved first.
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Section - 'A'

frifea aftegad oAl @ STR e a1 < gt 7 T
Answer the following very short-answer-type questions in one or two
sentences. (1x8=8)
frefefaa wrEifas Al @1 999 98d g Wil & #9 B
IR ferfad—

Arrange the following carbonium ion according to their increasing stability-
+ + =
CH,, (CH).C, (CH),CH,CHL.CH:
frfofaa difrel @1 o= E- ok Z- gW7 <wigd—

Assign E- and Z- configuration to the following compounds-

B{ /CI H3C\ /H (0]
5 C\ /C - C\ 1
I H CH,CH, CHZ-C-H
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Fret B @ ot @R |

Complete the following reaction -

@ + B, —»
e & LB | g4 arel Ieurg b1 A forlad |
Write the name of product obtained by the nitration of toluene.
TR @ FdT URAT] # B AT HHT 87
What is the hybridization of carbon atom in acetylene?
T BT & 919 DT Praigs B ol § fbar exft 87
(@aet s i)
What happens when calcium carbide reacts with water?
(Give only reaction)
o aifafear & X vad Y &) vgaifHa —
Identify X and Y in following reaction -

+

OH. ~CH, ~Cl, woiiells X HZ(ZH )
S febanfafer @1 &% wHieRor | 27

What is the rate law of SN* mechanism?

fr=ifea g ST WeAl & STR 150—200 e ¥WHAT A €
Answer the following short-answer-type questions with word
limit 150-200 (2x5=10)

IfrEg™E P IaTeRer wfkd wHIEd |

Explain hyperconjugation with suitable example.

OR

AMDHEE! TAT Felag= Fal AMPHS I 8?7 TT9 | B B
A e fobar v iR ai?

What do you understand by nucleophilic and electrophilic reagents? Which
of the two will readily react with a carbanion and why?

e AR | 9T WHE 8? SRRV |fd |Hsned |

What is Walden inversion? Explain with example.
OR

"3 3.

3T 4.

HI 5.

U3 1.

(3) Code No. : B-206(A)
ffl A & Saifcia waaadr welRfa & 8q @ fewand
B Af2d? ST IIERYT | W P |
State the necessary conditions for a compound to show geometrical
isomerism. Illustrate your answer with suitable example.

ArgdelIed g9 B fbsl a1 At &1 avfw afir |
Give any two methods of formation of cycloalkanes.

OR
dofF 9 =1 See &9 ura Hr?

How will you prepare following compound from benzene?
(a) TR (Acetophenone)

(b) ¥GiT eFATFARTSS (Benzene hexachloride)

(c) FARIESI (Chlorobenzene)

(d) <@ (Toluene)

Jepied @ fAoiciae @ fhaffy wfga ool Hifvw |
Discuss the dehydration of alcohol with mechanism.

OR
TR & et sorfthfors aififiar 1 Sarexor fhafaft wiike R |
Give an example of electrophilic reaction of acetylene with mechanism.
Ufohel B8cTTgS &1 I&TERVT od §J SN T E Afifar wwemsd |
Explain SN and E reaction with the help of alkyl halide.

OR

TS WRfes ufcremds sififihar & ford fasis fharfafd &1 av=
BT |

Give bimolecular mechanism for nucleophilic aromatic substitution reaction.

Section - 'C'

feifea b S gl & SR 300-350 e AT H
Answer the following long-answer-type questions with word
limit 300-350 (3x5=15)
FrfTe NS & Faris vd o W eEgivE 99 @ g9E 6
o BT |

Discuss the effect of hydrogen bonding on the boiling point and solubility

of organic compounds.
OR

PO,



